TORTS







FALL 2011

PROFESSOR SELMI

OUTLINE 
I.
INTENTIONAL TORTS

A.
INTENT
1.
2-PRONG TEST FOR INTENT 

a.
Purpose to cause a harmful/offensive contact

b.     
Knowledge that a harmful/offensive contact is substantially certain to occur





Garratt v. Dailey: Dailey, 5-year-old, moved a chair the 




backyard in order to sit in it. Dailey stated that he moved 




the chair to sit and when π went to sit down he attempted to 



move the chair back so she wouldn’t fall. Since he is 




young, he lacks both size and dexterity and couldn’t get the 



chair back in time. π fell and broke hip. ISSUE: is the 




element of intent satisfied if the ∆ has substantial 





knowledge that harm would result? Held: Yes, substantial 




knowledge satisfies the element of intent. “Character of 




actor’s intentions. In order that an act may be done with the 



intention of bringing about a harmful or offensive 





contact…, the act must be done for the purpose of causing 




the contact…or with knowledge on the part of the actor that 



such contact…is substantially certain to be produced.” 




(Restatement §41)



c.
Application: To all intentional torts.  





Exception: Intentional Infliction of Emotional Distress includes 



recklessness





Examples:





Purpose: Stone Thrower Hypo: ∆ throws rock & hopes to 




hit π, but doesn’t believe he can throw a rock that far; rock 




hits π. Does he have the requisite intent? NO, meets 





purpose, but not knowledge because ∆’s never thrown a 




rock that far.





Knowledge: Praying Brick dropper Hypo: Man goes to top 




of 30-story building & drops a brick. He seriously prays to 




God to not let it hit someone, but the brick hits someone. 




Requisite intent? NO, doesn’t meet purpose; knowledge 




depends on circumstances, but there is a possibility that ∆ 




understands, but not substantially certain (~90%).



2.
DUAL INTENT
a.
Majority Rule: Requires “dual intent”: Purpose to cause harmful contact; (a) intent to cause a contact (b) a harmful/offensive contact.

b. 
Minority: Requires only “single intent: Purpose to cause contact that turns out harmful; Intent to cause contact that turns out harmful/offensive. Don’t have to appreciate the “wrongfulness” of the conduct, just intent to contact for whatever reason.

c.
Limitations of tests
Dual Intent: Kissing hypo


Single Intent: Airport hug hypo



3.
DOCTRINE OF TRANSFERRED INTENT




a.
Transfer Between Persons


You can transfer intent from one person to another; a legal fiction. Fault level is high; acted in a manner either purposeful or with knowledge.


Baska: voluntarily placed herself b/t fighters; saw risk and voluntarily inserts herself => no difference, doesn’t change the two elements of (1) intent (transferred) and (2) harmful contact.
Examples: Dean’s Food Fight




b.
Transfer Between Torts
Example: Thrown book at one student but he ducks

Food fight: intent for battery, no contract, can sue for assault.

3 Transferred Intent Scenarios
1) P-2 v. D – Same Tort, Different Person: Transfer to complete same tort against different person (D intends battery against P-1, completes battery against P-2)

2) P-1 v. D – Different Tort, Same Person: Transfer to complete different tort against the same person (D intends assault against P-1, completes battery against P-1)

3) P-2 v. D – Different Tort, Different Person: Transfer to complete different tort against different person (D intends to commit battery against P-1, transfer to complete assault against P-2).


4.
DOCTRINE OF EXTENDED LIABILTY



Rule: If the elements of a tort are present, ∆ is liable even for 



unforeseeable consequences/injuries.




Liability of Parents: 2 possibilities

1) Parents automatically liable for child’s tort?

· C/L = no; some statutes impose liability but only for a small amount.

2) Parents may be negligent themselves for a failure to supervise, but it is difficult to show.



5.
INTENT AND ABILITY TO REASON
a.
Children

(1)
General Rule: Age is relevant to determine purpose 


& knowledge and young children cannot/do not have that 


cognitive ability.



Example: Pulling chair (Garratt): Has to know/have 



knowledge that she will sit, fall, and hurt herself.

(2)
Lower age cutoff: 5 (generally)


Example: Mark McAfoos (3 yrs., 5 mo). Can 3-


year-old have intent the way an adult would think of 

intent? No. π failed to constitute fault and failed to 


establish a prima facie case.


(3)
“Rule of 7s”: some states => under 7 = no liability.




b.
Insane People




Wagner v. State: ∆ was mentally incompetent to form 




intent; needed to intend harm. π argues that don’t need to 




intend harm, only intent to make contact. TYPICALLY: 




mentally incompetent people are held liable as any other 




person.





Napoleon Hypo: ∆ is mentally insane and believes that he 




is Napoleon and Nurse is an agent of the Duke of 





Wellington holding him hostage. Breaks chair leg off and 




hits nurse – requisite intent? YES.


6.
COMPARING OTHER TYPES OF FAULT



a.
Recklesness/Wilfulness/Wantonness (Less than Intent)





Wilful or wanton conduct is “a course of action which 




shows actual or deliberate intent to harm or which, if the 




course of action is not intentional, shows an utter 





indifference to or conscious disregard for a person’s own 




safety or the safety or property of others. [It is] a hybrid b/t 




acts considered negligent and behavior found to be 





intentionally tortuous.” “When a person’s conduct creates a 



known risk that can be reduced by relatively modest 




precautions,” that conduct should be considered reckless 




rather than simply negligent.




b.
Negligence: Act unreasonably; not a mental state, but an 




evaluation of conduct; no punitive damages.



The Fault Principle: Tort liability (generally) requires proof of fault on 


the part of the ∆ (McAfoos)




Fault can be either: (1) Intent or (2) Negligence

B. 
DAMAGES


Damages a π can recover for an Intentional Tort:



1.
Nominal Damages: No harm, but elements are met. Valued at $1. 



This is the minimum recovery. 



2.
Compensatory Damages: Actual injury either emotional or 




physical. Can be substantial. Jury has discretion. Elkin: jury 



allowed to take π’s word for harm/offense.


3. 
Punitive Damages: Solely intended to punish. Possible, not 




entitled. 



4. 
Parasitic Damages: part of compensatory damages, Distinguish: 



stand-alone emotional distress; damages attach automatically to 



something else; emotional harm that comes with physical harm.


C.
FIRST INTENTIONAL TORT: BATTERY


DEFINED: An intentional, unconsented-to contact with another. 



1.
Elements 




Snyder v. Turk: Tortious act: grabbing of shoulder. A person is 



liable for battery when he acts intending to cause a harmful or 



offensive contact, and when a harmful contact results. Contact 



which is offensive to a reasonable sense of personal dignity is 



offensive contact. Reasonable minds test is applied.



a.
Intent




b.     
Harmful/Offensive contact




Interest Protected: Bodily autonomy




Restatement 13: (1) An actor is subject to liability to another for 



battery if:

(a) he acts intending to cause a harmful or offensive contact with the person of the other or a third person, or an imminent apprehension of such a contact, and

(b) an offensive [or harmful] contact with the person of the other directly or indirectly results





- White v. Muniz


2.  
Harmful Contact



Actual harm results from the contact.




3.
Offensive Contact



Contact which is offensive to a reasonable sense of personal 



dignity is offensive contact.




Cohen v. Smith: Nurse and staff were informed that Cohen did not 



want to be touched or seen by a male during her delivery while she 


was naked as it was against her religion and she had a right to not 



be touched (bodily autonomy). You set the terms under which your 


body is touched. She was touched and it was offensive to her 



reasonable sense of personal dignity.



Applying the elements through Snyder:




1) Was there a harmful contact? No. Was there an offensive 



contact? Yes, a reasonable sense of personal dignity was offended.




2) Intent? Can be proven through the words of the doctor.




How do we know the ∆ has the requisite intent? Look into the ∆’s 



head (actions, statements, facts, and circumstances), intent is a 



mental state.

D. SECOND INTENTIONAL TORT: ASSAULT



Interests protected: right not to be made apprehensive

1. Elements:
(1) Intent (purpose or knowledge)

(2) Apprehension of harmful or offensive contact



Cullison v. Medley: Apprehension must be one normally aroused in 


the mind of a reasonable person. Apprehension must be of an 



imminent, not a future, contact.

2. Rules on Assault



a) Traditional Rule: mere words are not enough; words + actions 



are needed.




b) Reasonable apprehension required.




c) Dickens: must be an apprehension of an imminent battery 





- Restatement Second: “The apprehension created must be 




one of 
imminent contact, as distinguished from any 




contact in the future. ‘Imminent’ does not mean 





immediate, in the sense of instantaneous contact . . . It 




means rather that there will be no significant delay.




d) Does every battery include an assault? 





HYPO: Sleeping Beauty: no assault, no apprehension 




because she was asleep when the battery was committed 




against her.




e) Damages for Assault – the jury can assess substantial damages




HYPO: Bank robbery – apprehension of apparent contact; holds up 


bank with fake gun; can the victim still sue for assault? YES – 



doesn’t matter, intent was to cause apprehension.




HYPO: Arnold v. Danny – Danny takes swing at Arnold, but there 



is no way that Danny could hurt Arnold. Arnold could still sue for 



assault => not harmful, but offensive.

E. THIRD INTENTIONAL TORT: FALSE IMPRISONMENT


Interest protected: freedom of movement (freedom to move)



1. Elements:

(1) Intent (purpose/knowledge to confine or that substantially certain to occur.

(2) Actual confinement
(3) Knowledge of confinement
(4) Against π’s will



Aspects to consider: size of confinement; reasonable means of 



escape; duress of goods; failure to release.




McCann v. Wal-Mart: element at issue – actual confinement. 



Where π’s are taken is very important in false imprisonment cases. 



If the π’s belongings are confined (i.e. – shopping cart) they are 



confined. By stopping the cart, there is the implication that they 



will be stopping, touching the π – can be confined w/o physical 



contact. Did ∆ have intent? Yes, knowledge/purpose to confine or 



substantially certain confinement would occur.




HYPO: The “Castle” Episode – Detective tells suspect “don’t 



leave the city”; “don’t leave country” – false imprisonment? 



Mental state is associated w/ loss of movement/freedom, but at 



some point space becomes so large it’s not false imprisonment.




HYPO: Angry Student Activists – locked out of a room; not false 



imprisonment because they were not confined.




HYPO: Locked on a balcony – confined? Depends on the height of 


the balcony; reasonable means of escape that is reasonably 




apparent, then no, not confined.




HYPO: Purloined Student Paper – only copy of the student’s paper 


is stolen and the student is forced to follow the person for three 



hours in the library. False imprisonment? Yes, similar to the 



shopping cart in McCann. Duress of goods




HYPO: Fighting Neighbors – Locked into house, phone ripped out, 


and you don’t help your neighbor get out; liable for false 




imprisonment? No, despite all the elements being met (intent => 



knowledge that confinement was substantially certain to occur), 



you have not caused the imprisonment, not under any duty to 



release; never undertook any action. 




HYPO: Charitable police officer – Police stops 2 fighting drunks 



and drops them off at the outskirts of town. Confined? In police car 


= yes. Knowledge of confinement (at time of confinement that 



causes mental stress)? Drunk, so it depends; if π can’t remember, 



look to actions in back of car. Case of extended liability if 




someone dies or is hurt.



2. Shopkeeper’s Dilemma



HYPO: Insolent Teenager Shoplifting Suspect – Manager searches 



and doesn’t find stolen items.




The Manager’s Options:

1) Recovery of chattels

2) Search & find nothing




Shopkeeper had to be right at C/L or else a suit for battery 




and/or false imprisonment could be brought against them.




Solution: create a new defense – the Shopkeeper’s Privilege





Shopkeepers can stop and search, even if wrong.

F.  FOURTH INTENTIONAL TORT: TRESPASS to Land


Elements:




1) Intent (purpose or knowledge)




2) Entry



Interest protected: Right to exclusive possession of real property



Intent needed: Intent to enter that (specific) property. Not “wrongful” 


intent to enter



HYPO: Friend’s Party – go to a friend’s house for a party. Not sure which 


house is his and stop at one of his neighbors by accident. Trespass? YES – 

trespass occurs by stopping at the wrong house.



Entry needed: 

1) Actual entry to the property of another, OR

2) Failure to vacate

· Entry by person not needed. 





HYPO: Forgotten Cement Base – worker pours a cement 




base to do some work, lawful entry. Cement base is left 




behind after right to enter was terminated. Owner is injured 



when he drives his tractor into the cement base that he does 



not see due to high grass. Trespass? YES; estate can sue for 



death caused, extended liability, failure to vacate or 





transferred intent to battery.



C/L created trespass because the law is concerned w/ land ownership and 


right to exclude others; reflects property law

G. FIFTH & SIXTH INTENTIONAL TORTS: CONVERSION AND 
TRESPASS TO CHATTELS



Both torts: interference w/ a chattel (i.e. personal, not real, 




property)




Difference b/t Trespass to Chattels and Conversion: the extent of 


the interference to chattels. It’s a matter of degree (Substantial 



Dominion vs. Intermeddling)




Chattel – traditionally = tangible personal property



Elements of Conversion:

1) Intent to exercise substantial dominion w/ over chattel

2) Exercise of substantial dominion over chattel

· Mere interference (intermeddling) is NOT enough



Remedy for Conversion:
· Forced sale; pay for chattel



Elements for Trespass to Chattel:
1) Intent to intermeddle
2) Actual harm to chattel




- Actual, not nominal, damages required to chattels (physical harm 



or loss of use); Dispossession can be actual damage



Remedy for Trespass:

· Don’t pay full value, pay actual damages



Dividing line is a matter of degree. Argue Restatement §228A Factors:

a) extent and duration of control

b) the ∆’s intent to assert a right to the property

c) the ∆‘s good faith

d) the harm done

e) expense or inconvenience caused



Principle of Dominion by Controlling Access – 1 item that controls access 


to another (i.e. car keys)



HYPO: Is there a trespass to chattel, a conversion, or no tort at all?

(a) ∆ pets the π’s dog although the π has repeatedly told him not to do so. The dog is not harmed. – No actual harm, no tort.

(b) ∆ leans against the π’s car. – No actual harm, no tort.

(c) ∆ takes the car for a joyride against the π’s will, and puts the dog in the front seat w/ him. – Trespass to chattel

(d) ∆, angered at the dog’s barking, kicks the dog then pushes the car over a cliff, causing substantial damage. - Conversion



**Parasitic Damage Rule applies**



Conversion: The  “3-person” Transfer, Fraud, and BFPs



Situation: A’s property (1) taken by B who (2) sells to C, a person 



who does not know of the conversion by B (i.e. is a Bona Fide 



Purchaser)




General Rule: C is liable, as is B




Exception: C is NOT liable when B gets title (even though by 



fraud or trickery) Reason – B gets title (voidable, but sufficient to 



pass along to C as long as C is BFP)



**Does not matter how many ∆s, can sue all the way down the line BUT 



can only recover from one ∆.**

H. SEVENTH INTENTIONAL TORT: INTENTIONAL INFLICTION OF 
EMOTIONAL DISTRESS



Elements:
1) Intent 

2) Extreme & outrageous conduct

3) Severe emotional distress




GTE Southwest: Employees brought action against employer for 



engaging “in a pattern of grossly abusive, threatening and 




degrading conduct, regularly using the harshest vulgarity, verbally 



threatening and terrorizing them.” TC jury found for πs in their suit 


for IIED. Court examined what conduct can be considered extreme 


and outrageous and must consider the context and the relationship 



between the parties. Occasional outbursts, the Court reasoned, 



while not ideal, must be tolerated in society. However, once that 



conduct becomes a regular pattern of behavior, as it has in this 



case, and the behavior continues even after regular objections and 



attempts to remedy the situation, then that rises to the level of 



severity and regularity to be considered extreme and outrageous. 

(1) Jury could believe he had knowledge emotional distress was likely to occur, satisfying intent

(2) Extreme & outrageous – repeated; boss – ability to inflict more stress because people are subject to him, power over employees (power imbalance)

(3) Severe emotional distress – π has to prove; standard of proof is “preponderance of the evidence” (more likely than not). 

**A π must prove a sufficient causal link b/t the ∆’s 

conduct and π’s distress**




Important Factors:
1) Repetition

2) Relationships (∆’s knowledge of specific vulnerability)




Insult Rule: Taylor – insults are not enough (general rule). 




Exception: traditional rule for common carriers 





(trains/planes/buses) &innkeepers – held to a higher standard; 



insult a passenger counts (bar is lower)




Third Party IIED: Homer v. Long – π (ex-husband) sued for IIED 


– Dr. ruined and stole my wife. (1) intent: no purpose to inflict 



emotional distress on husband; knowledge, yes, knew it was 



substantially certain to occur; (2) extreme and outrageous conduct: 



yes, position of power, unethical; (3) severe emotional distress – 



yes. BUT conduct was directed at π’s wife, not at π. Transferred 



intent does not work, IIED is an exception to the Transferred Intent 


Doctrine, it would open up a floodgate of liability. Restatement of 



Torts § 46 (2) where such conduct is 
directed at a third person, the 



actor is subject to liability if he intentionally or recklessly causes 



severe emotional distress (a) to a member of such person’s 




immediate family who is present at the time, whether or not such 



distress results in bodily harm, or (b) to any other person who is 



present at the time, if such distress results in bodily harm.



Restatement’s Special Requirements:

1) Presence

2) Knowledge of Presence

3) Bodily harm for non-family members

· To be liable, π must be present, ∆ must have knowledge of π’s presence, AND if π is not a family member, there must be bodily harm.




HYPO: The Daughter Hypos
1) ∆ beats father. π (daughter) comes on the scene. ∆ looks over, sees π, and then severely beats father. – Yes, can recover; requirements met

2) Same facts, except ∆ does not see P. – No, can’t recover; does not satisfy requirement 2 Knowledge of Presence

3) ∆ knows that π lives w/ father. Hears π say “Bye Dad. I’ll be right back.” π leaves and ∆ beats up father and leaves. Daughter returns. – No, can’t recover, doesn’t satisfy 1 or 2




Purpose for Special Requirements – limits liability

1) Eliminates people who aren’t there; if a person sees it, emotional distress is severe

2) Gives indication that ∆ had the requisite intent

3) If it’s a non-family member, distress might not be as severe




Extended Presence Theory




HYPO: Babysitter was molesting child. Emotional distress? 



Yes. Could parent recover? No. Extended Presence Theory 




allows recovery by the parent.

I. DEFENSES TO INTENTIONAL TORTS



**Analyze prima facie case, once met, move to defense**




Privileges (Defense)

· Even if elements proven, some reason why π can’t recover

· There are additional facts
· BOP is o the ∆ - prove more likely than not
A. Self-Defense



The Reasonable Force Paradigm





- Something is determined reasonable by looking at the 




whole universe of facts in the circumstance




Thinking through Self-Defense



1) Can you defend yourself? Yes




2) If so: how much force? Concept of “reasonable force”




3) When is deadly force reasonable? When you think your life is in 


jeopardy




4) Is retaliation reasonable? Retaliation is not reasonable, not 



defending, punishing




5) Do you have to retreat before using force? Depends on the 



jurisdiction. Exception: in your house




6) What if you make a mistake? Two possibilities: (1) mistake is a 



defense, OR (2) mistake is not a defense. Allowed to raise 




privilege of mistake w/ self-defense. If a reasonable person thinks 



life is in danger, but wrong still allowed defense.




7) Extent of the privilege: Assault and False Imprisonment. Could 



use self-defense w/o force? Confinement; assault elements




8) Can you threaten force that you cannot use? Can threaten 



reasonable force – honestly believe you have to defend yourself, 



all about proportionality

B. Defense of Others



**Same principles as Privilege of Self-Defense**




BUT – Mistake in defending someone else (helped the wrong 



person) – voluntary insertion into altercation = no defense; other 



courts keep privilege if reasonable

C. Arrest and Detention: The Problem of Shoplifters



- Individuals who take property




Restatement Second §120A:

1) Reasonable belief

2) Detain on the premises for reasonable investigation





NOTE: question of how far you can go off premises is open




Peters v. Menard: Court reads statutes carefully and determines 



that you can chase off premises; otherwise property of merchants is 


lost when they dash out the door. Argument – at some point it is no 


longer an attempt to detain, but people are acting as police.

D. Common Law Privilege of Recapture of Chattels

1) Merchant can recapture a stolen chattel, BUT

2) Must be in “hot pursuit” (not the next day)

3) Otherwise (not in “hot pursuit”)

4) If merchant is wrong (re: taking of the chattel), then no privilege = Shopkeeper’s Dilemma 





- NOTE: even w/ privilege, must have reasonable belief 




and reasonable investigation

E. Defense of Real Property



Property isn’t movable, can’t be run off with, so immediacy is lost




Katko v. Briney: ∆ sets up a spring gun and ∆ gets his leg shot off. 



Brings suit for battery (purpose/knowledge to cause 





harmful/offensive contact; harmful/offensive contact results). 



Principle: Life vs. Property – Life > Property; can’t use deadly 



force to defend property unless there is a threat to another person. 



Briney used deadly force to defend an empty room – Restatement 



Rule: can use the same force as if the defender were present.




Brown v. Martinez: Tort – battery. Martinez wanted to scare the 



kids off his property and shot in the opposite direction from where 



he saw them running. Hit one kid who had gone the other way. 



Intent for assault, commits battery = transferred intent. Uses deadly 


force in defense of property. Under Katko that is not allowed. 



Restatement §67: allows threat of force as a means of defending 



land/chattel. Intent for assault is privileged, can it be transferred? 



Public policy allows transfer; other side – can’t transfer: people act 


under privilege and transferring would destroy the privilege




Summary

1) Warning if feasible

2) Reasonable force: trespasser has no right to be there (start gently)

3) Trespasser has no right to resist (might escalate to self-defense)

4) Force to recapture property if ousted? Courts split: can’t hid/take property anywhere, it is not moveable

F. Privilege of Discipline

1) Parents: Force & Confinement: allowed within limits; BUT: concern about intruding on parental rights. Parents get a fair amount of leeway, but doesn’t extend to child abuse

2) Others: Teachers/school bus drivers/camp counselors – the privilege is more limited (not your kids). When taking place of parents; when there is the need to have the discipline in that present moment
G. Privilege of Consent



Consent is implied until it is revoked

HYPO: A leans in, B puts had up = no consent


Doctrinal Features of Consent
1) Capacity (Robins)

2) Conditional Consent

3) Scope of Consent (Parrot)

4) Implied consent: legal & factual

5) Age of consent (children, aged, etc)

6) Consent to a Criminal Act – can’t consent to a crime

7) Effect of Statutes on ability to consent (child labor laws)

8) Fraud & Misrepresentation
- Rely on reasonable appearance

a) Look to the circumstances to show consent

b) Extent of consent: unexpected consequences. Think “inverse” of extended circumstances. Consent to the touching, consent to any consequences that occur unexpectedly
c) Consent as negating harmful intent – consent indicates a lack of intent; negates intent; treated as an affirmative defense (single intent states = pure defense)



Can anyone consent? NO – person has to understand 





circumstances and consequences




Robins v. Harris: Can an inmate consent to a guard? Held: NO; 



capacity to consent = making a true choice, not forced into it; 



power imbalance. Other power imbalances: employer/employee 



(not necessarily every workplace) – no per se rule. 




Ashcraft v. King: Conditional consent; Consented to surgery and 



blood transfusion, puts condition of only family blood. Ashcraft is 



given random blood that is HIV infected. Gave a limited scope of 



consent.




Kennedy v. Parrot: Scope of consent; gives consent to 




appendectomy, not to additional medical treatment. Not outside 



scope of consent, doctors have flexibility because presumed, under 


the circumstances, patients want you to do the act if reasonable. 




Implied Consent: Facts & Emergencies – patient is unconscious, 



but law will imply consent in emergencies; patient would rather 



have you treat than wait for consent




HYPO: Fighting – consent to fighting; how far does the implied 



consent go? Consent – yes; scope of consent would go to the jury. 



∆ - anything goes; π – no, injury of a different kind than what was 



consented to.




Age of Consent: Ability of children to consent





Aging Adults – dementia, etc. lose ability to consent

· Ability to consent grows gradually until 18 (complete consent)




Entering into Consent
A. Expressly: Orally or in writing

B. Implied consent through actions: lift arm for shot at dr.

C. Impliedly: Consent Implied in Law (emergencies)




Scope of Consent
A. Geographic Limits





Ex. left ear/right ear operation

B. Temporal Limit

Ex. Base of snow fence (cement block); consent had 
lapsed

C. Conditional Limits





Ex. Ashcraft



Effectiveness of a Given Consent:

A. Incapacity





Ex. Person consenting cannot understand risks 

B. Statute Disallows Consent





Ex. Child Labor Laws

C. Fraud, Misrepresentation, Coercion





Doe v. Johnson: Used fraud and misrepresentation 





to obtain consent. Is it enough that he should have 





known to fulfill intent? No, should have known is 





not enough. She consented, but HIV had to be 





disclosed – couldn’t consent without an informed 





decision.






HYPO: The Affair I – Woman asks about STD. 





Guy knows he has herpes and lies. Gives the 





woman herpes – liable for battery: affirmatively lies 




(affirmative misrepresentation)






HYPO: The Affair II – Woman doesn’t ask, guy 





doesn’t tell, but he knows & gives herpes. Liable 





for battery – misrepresentation of omission (Doe)






Duty to disclose/inform, otherwise consent is not 





based on facts/informed decision. KEY – would the 





information affect your decision?




Treatment of Medical Consent




Doctors have to disclose all risks otherwise it’s an 





unconsented contact and can be a battery. Have to have 




sufficient info to weigh risks and make informed decision 




to consent

H. Privilege of Public Necessity – Complete Privilege



**Imposed whether or not person consents due to public policy**




Surocco v. Geary: Tort – trespass to land & conversion. Blew up a 



house (and items inside) in an attempt to stop a raging fire. Fire 



ended up stopping before that house. Logical basis for privilege: 



house as a nuisance; would have added to fire as more kindling. 



Privilege – Mayor has authority to act without being sued. RULE: 



there has to be an apparent necessity AND the action has to be 



reasonable. (MAJORITY RULE)




Wegner: Should private citizens pay for the good of the public? 



NO: Doctrine of Necessity – Restatement Torts § 196: One is 



privileged to enter land in the possession of another if it is, or if the 


actor reasonably believes it to be, necessary for the purpose of 



averting an imminent public disaster. Better Rule: in situations 



where an innocent 3rd party’s property is taken, damages or 




destroyed by the police in the course of apprehending a suspect, is 



for the municipality to compensate the innocent party for the 



resulting damages.

I. Privilege of Private Necessity – Incomplete Privilege 




Incomplete privilege: have to pay when used and damage




Ploof v. Putnam: π – transferred intent & extended consequences; 



∆ - defense of property against trespass on private dock; can use 



reasonable force; untied boat from dock. π – duty to help; private 



necessity: necessity to save my life; private necessity trumps 



defense of property. Issue: Does ∆ have a duty to permit trespass if 


it is a necessity? Held: YES, necessity will justify entries upon 



land and interferences w/ personal property that would otherwise 



have been trespasses.






Vincent: RULE – if a person uses your property to save their own, 



and your property is damages, you can recover (must be serious 



harm to use another’s property to save your own.



Public Necessity – no recovery



Private Necessity – recovery if damage

II. NEGLIGENCE


Intro to Negligence
1) Fault Requirement

2) Foreseeability

3) The imposition of “unreasonable risk” 

Negligence is another form of fault; it has to be foreseeable; can’t foresee it, can’t 
do anything to avoid it; no fault if not contemplated in some sense


Two Basic Kinds of Fault:

1) Intent: Prohibits specific actions

2) Negligence: Not defined by a specific, forbidden action; Much broader and more general standard

3) Negligence is based on the imposition of risk on others that results in injury

4) The kind of risk = unreasonable risk


Prima Facie Case for Negligence

1) Duty – assumed to act reasonably under the circumstances


2) Breach of duty – someone has to act unreasonably (Reasonable Person Test)


3) Actual Cause – negligence has to be the actual cause of the injury


4) Proximate (Legal) Cause – an attempt to limit liability despite negligence


5) Damage – no nominal damages, has to be actual (usually physical) harm



HYPO: Woman backs up, didn’t look, hits husband who was crouching

1) Acted, so she owed a duty

2) Breached by not looking

3) Wouldn’t have seen him anyway (he was crouching); not negligent.



The Reasonably Prudent Person (RPP) Standard



The RPP Test – Stewart: The proposed “High Degree of Care” 



Instruction – “Gasoline is a very dangerous substance if not 



properly handled…With an appreciation of such danger, and under 


conditions where its existence reasonably should have been 



known, there follows a high degree of care, which circumscribes 



the conduct of everyone about the danger.” π wanted that 




instruction, to indicate that the ∆ should have been really careful; 



that instruction not given. Standard: Reasonable Care under the 



circumstances – standard is always reasonable, what changes is the 


amount of care. As danger rises, so does the amount of care 



(amount of care needed can be high or low depending on the 



circumstances/risks posed).



Applying The RPP Standard
1) Does the standard of care expected of the RP vary from case to case? – NO, standard stays the same

2) Does the amount of care expected of the reasonable person vary from case to case? YES, depends on the circumstances

3) What causes the amount of harm to vary from case to case? The circumstances, risks/dangers posed

4) What is “reasonable care”? The amount of care a reasonable person would use under the circumstances

5) Who determines the amount of “reasonable care” that should have been exercised? The jury (unless waived)



**Core of breach => was there a duty of care and was that duty 




breached?**



The Emergency Doctrine



Bjorndal: The court gave an “Emergency” instruction – “People 



who are suddenly placed in a position of peril through no 




negligence of their own, and who are compelled to act without 



opportunity for reflection, are not negligent if they make a choice 



as a reasonably careful person placed in such a position might 



make, even though they do not make the wisest choice.” ∆ claims 



acting in an emergency. Emergency – have to act quickly, not as 



much time to think, less time to assess danger and evaluate. If you 



have to act quickly, less information, less time to think, more 



actions appear reasonable.  Did the TC err in giving this 




instruction? Held: Yes, standard does not change; circumstances 



change; RPP test is not about “wisdom”. RPP standard takes all 



circumstances (including emergencies, as long as they are not self-



created) into account.



**The juror must look at and compare “What the ∆ did” with what “The 



RPP” would do**

· If ∆ = RPP in those circumstances, then acted reasonably

· Goes to breach issue; if ∆ acted reasonably, no breach of duty



“Circumstances” in “RPP under the circumstances”
1) Memory




HYPO: The Country Road - Driver hasn’t driven the road in 10 



years. Driver remembers the road (RPP would NOT); took turn too 


fast, caused an accident, could have, but didn’t remember the turn. 



Held to the RPP standard or higher quality? – Would give that 



superior attribute to the RPP

2) Minimum Knowledge




HYPO: The Paint Thinner – Stores paint thinner in garage; lights a 



candle, it falls and catches paint thinner on fire; burns neighbor’s 



garage down; didn’t know paint thinner was flammable. Does RPP 


know? Give RPP minimum level of knowledge in the world; hold 



people to that minimum whether ∆ knows or not (form of strict 



liability)



**When a jury would have difficulty determining knowledge due to 


technical “stuff” (medical, law application, etc.) use an expert witness**

3) Experience




HYPO: Worn Tire vs. Broken Carburetor – Apply RPP test of tire 



knowledge or RPP w/ no knowledge? Once it is decided that ∆ has 



one type of knowledge, have to find dividing line between what 



RPP knows and doesn’t know. (Experience w/ cars)

4) Intoxication




HYPO: The Drunk – drives reasonably for a drunk, but 




unreasonably for a sober person. RPP is sober; ∆ voluntarily got 



drunk, not reasonable to get drunk and put others at risk.

5) Mental Illness




Creasy: Mental Illness – ex. How would a RPP w/ Alzheimer’s act 


in the situation? Can’t apply regular RPP standard because people 



w/ mental illness can’t weigh the risks, in capable of doing so. Two 


options: (1) hold to same RPP standard as everyone else; 




PROBLEM – can’t do it; by definition cannot meet that standard. 



(2) Hold to another standard; PROBLEM – impossible to find 



them negligent. GENERAL RULE – hold them to the same 



standard. 5 Public Policy reasons: (1) Losses allocated b/t two 



innocent parties to the one that caused the loss; (2) provides 



incentive to those who are for mentally disabled and have an 



interest in their estate to prevent harm and restrain the potentially 



dangerous; (3) stops the defense of being mentally disabled; (4) It 



would be too difficult to draw a line between mental disabilities 



and those temperaments, intellects, and emotional balances that are 


normal; (5) if the person with disabilities “lives in the world”, they 



are responsible for the damage they cause.

6) Age of the Actor




Child Standard of Care – Robinson: The child standard takes into 



account the age of the child, intelligence, maturity, training, 



experience of child; very subjective because life experiences are 



out of the child’s hands; ability to evaluate risks has not developed. 


EXCEPTIONS: Child standard does NOT apply if the child was 



engaged in (1) adult activities, or (2) inherently dangerous 




activities. 



Two kinds of Circumstances:

1) Internal – within the actor (Creasy); physical characteristics applied to the RPP (i.e. blindness – Shepherd)

2) External – outside the actor (Hill); what the risk is itself



If a π is negligent as well as the ∆, then the π it is called contributory 


negligence; C/L Rule: If a π was contributorily negligent, that negligence 


was a complete defense and π automatically lost the case. Modern Rule: 


comparative fault; jury compares fault of π with fault of ∆.



Role of Judge: Find and set forth the law during the trial and in the jury 


instructions



Role of Jury: (1) Find the facts as they occurred; (2) Apply them to the 


law given by the judge (after finding facts, jury would decide whether ∆ 


acted as a RPP in those circumstances).



Court will take the issues from the jury when: there are court-made rules 


as to the conduct that is negligent: (1) individual cases when a reasonable 


jury could only conclude 1 way (2) generic categories cases.



Rules of law generally are no longer followed and are a thing of the past 


because the Rules of Law did not apply to all fact patterns



Negligence Per Se


Violation of a Statute




Martin v. Herzog: ∆ claims π was negligent too – violated a 



statute. π did not have lights on while driving, violated statute. 



Statute gives no remedy in tort law. Judge instructs jury that it 



could be contributory negligence, but don’t have to find that and 



it’s not negligence itself. Appellate court reversed; if statute was 



violated, that violation is negligence. 



Determining whether to use a statute (state-wide), ordinance (city-wide), 


or regulation (administrative) – O’Guin: statute => keep unauthorized 


vehicle and people out when no attended on duty. Kids walked into 


landfill and were killed. Test for whether to use the statute: (1) the statute 


or regulation must clearly define the required standard of conduct (to 


know/determine what the RPP would do); (2) the statute or regulation 


must have been intended to prevent the type of harm the ∆’s act or 



omission created; (3) the π must be a member of the class of persons the 


statute or regulation was designed to protect; and (4) the violation must 


have been the proximate cause of the injury.



Core is a two-fold test: (was the statute intended to protect this person 


from this risk?)



(1) Class of Persons



(2) Class (type) of Risks



Defenses to Negligence Per Se



Impson – To analyze a statute:






(1) Look at statute






(2) Prohibits precise conduct (if yes, go to 3)






(3) Class of Persons 






(4) Class of Risks (if 3 & 4 met, go to 5)






(5) Does 1 of the 5 excuses apply?





5 Categories of Excuses






(a) The violation is reasonable because of the 





actor’s incapacity






(b) He neither knows nor should know of the 





occasion for compliance (ex. brake light; didn’t 





know it applied)






(c) He is unable after reasonable diligence or care to 




comply






(d) He is confronted by an emergency not due to his 




own misconduct






(e) Compliance would involve a greater risk of 





harm to the actor or to others (most elastic excuse; 





open-ended)




Four other situations:

(1) Application of negligence per se to children – take the normal child standard and given those factors, should child have known/been aware

(2) Invalid/defective statutes – (unconstitutional) as long as defect doesn’t affect statute materially

(3) Licensing statutes – General Rule: can’t use licensing statutes; used to judge competency, but in some instances doesn’t mean you aren’t competent. 

(4) Obsolete statutes – both unknown and not followed => can make argument to not use it



Effect of Violation of Statute:

1) Conclusive on breach of duty (i.e. negligence)

2) Evidence of negligence (some jurisdictions)

3) CA Rule – Presumption (Jury has to presume ∆ is negligent); Only time there isn’t negligence is when there is an excuse

· π can argue RPP test as an alternative to negligence per se

A. The Second Element: Breach of Duty




1. What is “Reasonable”

· A party breaches their duty failing to exercise care
· What kind of care? Reasonable care

· When is conduct unreasonable so that party is not exercising reasonable care? When the RPP would foresee that harm might result (foresee risk) and would avoid the conduct that creates the risk.

· Negligence is conduct – either an act or a failure to act


**How do decide whether a risk is reasonable or unreasonable: depends 



on factors such as alternatives, cost of alternatives, etc**



Pipher v. Parsell: Grabs steering wheel twice and the second wheel grab 


causes the driver to hit a tree. TC – jury, as a matter of law, could not find 


driver negligent (no unreasonable conduct) and takes issue away from 


jury. Court of Appeal reverses – where actions causing risks are 



foreseeable, there may be a breach. Grabbing the wheel once puts the 


driver on notice and makes it happening again foreseeable; could/should 


go to jury. Risk must be foreseeable



Indiana Consolidated v. Mathews: Insurance co., after paying insured, gets 

contractual rights of insured to sue. Pulled mower away from garage wall 


and filled gas tank of lawn mower; left the mower for some time and 


returned; started mower and it caught fire; went to get hose and call 911; 


garage burned down. 3 allegations of negligence: filling the tank; starting 


the Toro in the garage; failing to push the Toro out of the garage. Starting 


the Toro – no foreseeable risk. Failure to push outside – great risk 



(probability of harm) to moving Toro (Emergency Doctrine)




RISKS: Risk of injury to garage if mower is not moved - .80 (quite 


likely); Risk of injury to garage if mower is moved - .20 (quite 



unlikely); Garage: rebuild for $10,000. Injury to π would be 



$100,000. Probable dollar loss – Garage (.80 x. $10,000 = $8000); 



Probably dollar loss – Mathew (.20 x $100,000 = $20,000)



Evaluating Risks: (1) Foreseeable; (2) Risks (probability of harm); (3) 


Role of alternative conduct (alternatives & cost of alternatives)



Bernier: Alleged negligence is Defective Design. Risks from concrete 


pole (1) to pedestrians; (2) to drivers and passengers in cars. Alternatives: 


(1) metal poles; (2) steel spirals ($17.50) or hoops ($5.57). IF they made 


the pole stronger, wouldn’t have been negligent. Foreseeable risk – had to 


replace poles w/ frequency. IF, with improvements, pole would’ve still 


fallen over, the π is NOT negligent. Evaluate Alternative Conduct



**Utility of the action needs to be factored in and the social utility of the 



action can outweigh the risk**



HYPO: The Gasoline Drum – Unscrew cap and it explodes; probability 


low, never been heard of. How badly could he have been injured? 



Foreseeable even though it’s a low probability event, risk was extremely 


high = negligence. “A very large risk may be reasonable in some 



circumstances and a small risk may be unreasonable in some 



circumstances”



HYPO: The Hammer 1 – hammering bolt at work and hits π in the eye; 


π loses the eye – negligent to not wear goggles? Start w/ probability of 


harm.



HYPO: The Hammer 2 – same facts as above, but guy is already blind in 


one eye and it hits his good eye. Probability is less since there is only one 


good eye. Harm is higher, lose good eye and is blind.



**Probabilities of harm vary based on the circumstances**




Reasonableness Factors
1. Probability (likelihood) of

2. Harm (risk is probability of harm. Risk must be foreseeable)

3. Burden if you take precaution. Either:

a. Social utility of action (what would be lost if activity were stopped) or

b. Precautions that would avoid harm (and keep utility)

· If there is a reasonable alternative conduct taken, what is lost?

· Train hits car – argument not to get rid of railroad, but to add a crossing. Burden of precaution is cheaper, but will cost some $$ to install



**Parts 1 and 2 vs. Part 3 – balance has to happen**



Conway v. United States: “The degree of care demanded of a person by 


the occasion is the resultant of three factors: (1) The likelihood that his 


conduct will injure others, taken with (2) the seriousness of the injury if it 


happens; and balanced against (3) the interest which he must sacrifice to 


avoid risk”



United States v. Carroll Towing: Barge got loose because of ∆’s 



negligence and sunk another ship. Is the barge company partly liable for 


sinking the third ship? Held: Yes, it was reasonable for the barge co. to 


have an employee working. No general rule: allow for case-by-case 


analysis. (B = Burden of precaution (& costs); P = Probability; L = Injury)



Balance B < P x L (no formula for jury, just a way to examine & explain)

· If Burden is less than P x L, then the rational actor would take the precaution and avoid the risks

· If Burden is greater than P x L, then the rational actor would accept the risk (and resulting injury); won’t be hold liable

· Need the numbers (statistics) otherwise can’t use the formula



**Rational actor pays whatever is cheaper; want an efficient cost-




minimizing system to reflect negligence; Risk-Utility Balancing**




Example – a rule required the barge owner to spend $30,000 to 



save $25,000 in injuries would be inefficient and not cost-justified.



2. Proving Negligence



π has burden to prove negligence




Really talking about a breach of duty (unreasonable conduct)




Jury has to evaluate conduct, so there must be sufficient evidence 



and jury decides conflicts in evidence




Santiago v. First Student: π has to prove – duty, breach, actual 



cause, proximate cause, and damage (elements of the tort). π hasn’t 


sketched in/proved enough details about what ∆ did, hasn’t met the 


burden of proof. Have to prove a specific act that is unreasonable 



for breach. Don’t have enough evidence of circumstances, can’t 



evaluate the conduct



Forsyth: Able to infer speeding from circumstances – skidded 129 



feet. Found negligence due to inference of speeding.




**When not w/in common knowledge, that’s when an expert 




witness is used**




Trial Procedure



Burden on prima facie case – π bears the burden of preponderance 



of the evidence – more likely than not




Jury decides facts




Equipoise – jury can’t decide, even on both sides; π hasn’t met 



burden and π will lose




Procedural Devices for raising issues of sufficiency of proof:





- Nonsuits: case is over; once π rests there is not enough 




evidence. ∆ motions for a nonsuit (ex. would probably 




happen in Santiago)





- Directed Verdicts: at the end of the trial, all evidence is in, 



not enough, or so overwhelming jury couldn’t find for π




Types of Proof





- Direct Evidence





- Circumstantial Evidence: Inferring fact (B from Fact A)




Inferring Negligence: take facts and “infer” that conduct was 



negligent (Forsyth)




Slip and Falls: Inferences and Credibility



ISSUE: Is there sufficient evidence that a jury could find 




negligence (i.e. evidence sufficient to “get to the jury”)?




HYPO: Banana Peels – bright yellow (fresh): negligent act, 



someone didn’t pick it up, not reasonable to have constant 




vigilance => nonsuit; dark brown peel (old): sufficient to prove 



negligence (been on ground a sufficiently long period for ∆ to have 


found it)




HYPO: Pizza – slipped on a slice of pizza that had slid off a piece 



of wax paper. Mode of operation (another way to prove 




negligence) => putting greasy pizza on wax paper – foreseeable to 



slip off; negligent act is serving pizza in a way that is foreseeable 



to slide off.




Thoma: Constructive knowledge/notice. π slipped on spilled water 



in the waitress area (people constantly walking through – should 



have found it quickly). No one had seen anyone spill anything for 



about 30 minutes. Was it there long enough that they should have 



found it? Held: Yes, if a jury were to believe Thoma, then it could 



find that the employees should have noticed the liquid.




Duncan: π – stairway was negligently constructed. Evidence – 



custom to use one type of wood and didn’t use that type. Is what is 



customarily done relevant to whether ∆ acted reasonably? General 


Rule: Evidence that the ∆ violated customary safety precautions of 


the relevant community is usually sufficient to get the π to the jury. 


Restatement: a person’s “departure from the custom of the 



community, or of others in like circumstances, in a way that 



increases the risk” is evidence of that person’s negligence “but 



does not require a finding of negligence”




The TJ Hooper: Alleged negligence – didn’t get weather warning 



and stayed out at sea. Custom – none in this case: some ships had 



radios, others did not, not common enough to be expected. Statutes 


establish standards of care. Customary – not determinative, sets up 



a measure for jury to decide: (1) not every custom is reasonable; 



(2) unease; sure that custom is directed at safety. Jury doesn’t have 


to find an action unreasonable because it doesn’t follow the custom 


(and vice-versa). Safety manuals – admissible; similar to custom 



evidence




Res Ipsa Loquitur



“The thing speaks for itself”




Proving unspecified negligence




Byrne v. Boadle: π was walking down the street and lost all 




recollection. Witness – π was hit in the head by a barrel that 



appeared to fall from ∆’s shop. No proof of the negligent act, but π 


prevails; barrels don’t normally fall in the absence of negligence




Res Ipsa Loquitur Requirements
1) An event of a kind that doesn’t ordinarily occur w/o negligence (look at the nature of the accident)

2) Who are you trying to hold liable? ∆ has to have control, exclusive control over the instrumentality that caused the accident

3) The accident must not have been due to the voluntary action of the π




Koch & Norris: power lines (different results); storm in one and 



sunny day in the other. Have to look at the facts and use common 



sense to determine if the event would have normally occurred 



without negligence




HYPO: 600 pound steer – falls through ceiling and lands on π in a 



cattle house. This type of event does not happen w/o negligence




HYPO: The television fire – TV catches fire; use res ipsa? No, 



other possible causes.




HYPO: The fertilizer plant explosion – Yes, res ipsa may be used 



because it would not explode without negligence




HYPO: The chewing tobacco – found a human toe in pack of 



chewing tobacco – can use res ipsa; not a normal occurrence




**No res ipsa loquitur in slip and fall cases, there’s proof**




Warren v. Jefferies: Res ipsa loquitur is a form of circumstantial 



evidence to allow a jury to infer negligence when there is no proof 



of the negligent act. Car started to roll backwards, not an event that 


occurs w/o negligence. ∆ in exclusive control? Kids got in the back 


seat, no one in front, still in ∆ exclusive control. π contribute to 



injury? No, π never went into the front seat. π has to prove 




negligence, but can’t prove negligent act – uses res ipsa loquitur. 



Court – it was w/in π’s power to inspect the car and find out what 



the negligent act was – Rule: res ipsa loquitur not a substitute for a 


failure of proof, especially when it’s within their power & 




reasonable to investigate.




Evidentiary Issues: (1) Are the res ipsa elements met? (2) If they 



are, what is the effect of the res ipsa evidence?





Second Issue: Evidentiary Effect (3 rules)






- Res ipsa is a form of circumstantial evidence






1. Permissible inference: jury may draw or not 





(majority)






2. Presumption re: burden of producing evidence: 





jury must presume negligence unless ∆ produces 





some evidence






3. Presumption re: burden of proof: ∆ must prove by 




preponderance that it was not negligence





CA – BOP doesn’t shift, but ∆ has to prove some evidence 




and if some evidence is produced, then inference, if not 




then presumption of negligence




Giles: Elevator accident – res ipsa case? Yes, it would not 




normally occur without negligence. Was the elevator w/in 




exclusive control of the ∆ No, elevator co. not in exclusive control. 


Did π contribute? Not known; At the time of the accident π was 



literally in control. Res ipsa purpose is to allow the jury to infer 



if, more probable than not, the ∆ was negligent. Not Traditional 



Rule: If the jury could find ∆ was more likely than someone else to 


be responsible, it could go to trial – even when ∆ doesn’t have 



exclusive control and shares it (even w/ π); just get to jury, jury can 


then decide either way.




Collins: 2-∆ res ipsa- probability high that both ∆s didn’t do it. 



Beneficial to π and potentially partially unfair to ∆s (may hold one 



of the ∆s liable even if they’re not at fault)




**If ∆ can put on proof of exactly what happened, then no res 




ipsa loquitur**




Res ipsa is a vehicle for helping the π



3. The Professional Standard of Care



Two types of medical malpractice:





- normal/professional





- lack of informed consent




Walksi v. Tiesenga: Alleged negligence – making a wide cut prior 



to locating a nerve. Expert witness: clear testimony, but specific 



standard not given; it was all personal opinion. Effect: doesn’t 



have to be accepted by jury. Professional case – don’t use RPP 



standard; use Professional Standard: What care is customarily 



provided by other physicians; what the average qualified physician 


would do in a particular situation.




RPP – start w/ “what’s the risk?”




Professional Standard – start w/ “what’s the customary practice 



and did ∆ do it?”




Locality Rule – geographic regions





Variations of the rule:

1. “Strict” Locality – same town

2. “Modified” Locality – same or similar locality

3. Modified Rule – locality as just one circumstance

4. National standards (specialists held to this) 

· Just because of location, might not meet standards (equipment, etc)

· Locality Rule is falling by the wayside




Schools of medicine – have to follow it legitimately and not 



negligent if it does not follow another school of medicine




States v. Lourdes Hospital: Underwent surgery and when she woke 


up she had another injury. Would normally have to prove that one 



of the doctors did not follow the professional custom in the 




circumstance; prove (1) what actually happened; and (2) that it did 



not meet the standard of care. ∆ motioned for summary judgment 



because there was no direct evidence as to what happened. Issue – 



Can a π avoid failure of proof by using res ipsa? Held: Yes, can 



use res ipsa in professional negligence cases, but π needs to have 



an expert witness to testify that this is not something that normally 



occurs during surgery w/o negligence. EXCEPTIONS: leaving 



instruments in after surgery, etc.




Need for Expert Medical Testimony
1) To establish (a) the standard of care, (b) the standard was violated by the ∆, and (c) that the violation caused the π’s injury.

2) To establish the foundation for the use of the doctrine of res ipsa loquitur in the medical situation.

3) To establish the foundation for the common knowledge exception.




Ybarra v. Spangard: 7 defendants; not quite a common knowledge 



case, but res ipsa could be used. Went in for surgery and came out 



with other injuries. Problem - can’t prove exclusive control with so 


many ∆s; any number of people may be responsible. Court allows 



res ipsa; traditional elements not met, but willing to extend/stretch 



res ipsa to control. None of the ∆s speak up, only they know (π 



was unconscious); no way of finding out what happened – held any



∆ that was truly innocent to be strictly liable.



The Doctrine of Informed Consent



Dr. performs cosmetic surgery w/ no consent => sue for battery 



misrepresentation in consent, invalidates consent (Doe v. Johnson)




The Battery Theory – Schloendorff: Informed consent started as a 



battery theory. Every human being of adult years and sound mind 



has a right to determine what shall be done with his own body. 



Concerned with bodily autonomy. Today, most courts treat it as 



negligence (unless no consent or attempt to get it, then battery).




Negligence Theory – Harnish: claim is that Dr. did not inform her 



of the risk of the surgery from which she ended up suffering from. 



Dr. is obligated to inform so patient can make an informed 




decision (needs information to do so). π must show that it is 



customary in this practice that doctors inform of this risk 




(Professional Standard); BUT court does not apply Prof. Standard 



– applies RPP in the patient’s position; patient needs to get 



enough knowledge to make decision




Cutoff to information – materiality (the standard) 





Would want to know alternatives (surgeries, etc.) and risks 




to those alternatives and likely result of no treatment. Use 




expert witness to determine the standard of materiality




π would have to prove they would NOT have undergone the 



surgery without that knowledge. If not it wouldn’t have mattered; 



would’ve done it anyway.




Causation Standard (2-part test):




Would π (subj. test) and the RPP (obj. test) have done it?






PROBLEM – don’t have to be reasonable with bodily 




autonomy




It is inevitably hypothetical hindsight => if given the info prior to 



surgery, what would you have done




HYPO: Sixth Tummy Tuck – Do doctors have to disclose all the 



risks again? In theory – been told 5 times and already have all the 



info; don’t need it again to make informed decision




Exceptions to Disclosure Requirement (Defenses)





1. Emergencies – if they have to be treated in the 





emergency and are unconscious, then no need to disclose





2. Sixth Tummy Tuck Hypo





3. Therapeutic Privilege – don’t need to disclose if patient 




couldn’t handle it; PROBLEM – dr. makes decision for 




patient, could be abused. Dr. has burden to prove; narrow 




privilege; didn’t give info due to therapeutic reasons




Woolley – court applies the Professional, not RPP, standard




Limits of Disclosure




Disclosure can be waived – bodily autonomy





Wlosinski: Rule – don’t have to disclose success rate





Arato: not told the truth; not a risk of whether procedure 




will work. Courts are hesitant to extend risks outside that of 



the procedure.





HYPO: Surgical Biopsy – not told of surgical biopsy 




alternative. Have to disclose more risky alternative? Yes, it 




is up to the patient to choose.





Truman: Doctor never, in 6 years, told patient the risks of 




refusing certain tests of treatments despite advising she get 




one. She died and one of the tests could have prevented that 



death. Doctor has to disclose the dangers of refusing certain 



tests or treatments if the patient indicates they will decline. 




Difference – no actual touching (no battery); duty of care 




though

B. The Fifth Element: Damages


Right v. Breen: Judge awards nominal damages ($1) to π. Was there an 


impact on π? Yes, there was a car crash. Damage? No, no damage, lacked 


element of negligence; don’t have prima facie case. Nominal damages are 


only for intentional torts. Negligence cases do not allow recovery without 


actual damages.



Kinds of Damages Recoverable in Negligence:

1) Medical (economic)

2) Lost wages (economic)

3) Pain & Suffering (non-economic)

4) Other Specific Damages (economic)



Economic Damages – specifically provable damages



Non-economic Damages – incapable of specific proof



Punitive damages are generally not recoverable

C. Third Element of Negligence: Actual Cause


Salinetro: Alleged negligent act – Dr. didn’t ask if she was pregnant 


before taking x-rays. *Think Two TV Screens* 1 screen: what actually 


happened (facts); Other screen: what really happens when a person acts 


reasonably (or meets professional standard) – Hypothetical situation. But-


For Test for actual cause – “But for the ∆’s negligence, the π would not 


have been injured.” Salinetro would have said “not pregnant” if asked and 


same injury would have occurred. Negligent act did not cause the injury.



HYPO: The “run-over husband” – But-for? No – same result on both 


screens, she wouldn’t have seen the husband either way. Res ipsa? Don’t 


know what the negligent act is; Limits – example: when a surgeon leaves 


sponges in a π’s abdomen after surgery and this causes some harm for 


which the doctor is liable. However, if the sponges caused some other 


injury, there may not be a res ipsa case. Has to be some relationship 


between the accident and the injury. Gets π over actual cause.



Hale v. Ostrow: The sidewalk was blocked by overgrown bushes; π looked 

back at traffic before walking in the street and tripped on loose concrete, 


breaking hip. Test for actual cause: if you take out the negligent act of the 


overgrown bush, trip happens anyway (but-for test fails); trip doesn’t 


happen (but-for test satisfied). Actual & Proximate (legal) cause



PROBLEMS w/ But-For Test: 2+ ∆s




2-∆ Liability




1. Indivisible Injury






- Car crash (both negligently driven) & a piece of 





car spears 3rd party – both ∆s are the actual cause of 





π’s injury, can’t be divided b/t the two ∆, both 





caused it 





2. ∆1 hits a deer & leaves it in the road; ∆2 is speeding & 




crashes to avoid deer, hitting π






- ∆1 sets the stage for ∆2; ∆1 is negligent in leaving 





deer; ∆2 is negligently driving; Concurrent 






Tortfeasors & cause single injury. 






- C/L: joint & several liability: both ∆’s liable for 





the full amount & π can choose which ∆ to recover 





& π can choose which ∆ to recover from (or part 





from both) – can’t recover more than the damage 





incurred





3. Separate Injuries: 2 bicyclists






- ∆1 & ∆2 negligently riding bikes; hit π and one 





breaks right arm, other breaks his left arm; each ∆ 





caused 1 injury separately (one liable for one arm, 





the other for the other arm); only liable for the 





injuries you cause





Exceptions:





Employers – example: Pizza driver crashes negligently and 




is liable and employer is liable for employee for policy 




reasons





Concert Action – acting as agents of each other




Joint & Several Liability




- One ∆ pays all the damages





- Can sue other ∆ for contribution and recover half





- C/L contribution rule – pro rata




Several Liability




- In modern system: can assign proportionate fault to each 




∆





- No ∆ is liable for more than his/her proportion





- Assign liability based on percentage of fault & can only 




recover that % from each ∆




**π wants joint & several liability**




If π is contributorily negligent:





- C/L: π could not recover





- Modern view: comparative fault – reduce π’s recovery by 




π’s negligence






1) reduce recovery by π’s %; then






2) either (a) hold ∆1 & ∆2 jointly and severally 





liable or (b) hold them severally liable




Examples:

1) ∆ - 90%; π – 10%; damage = $10,000; recovery = $9000

2) ∆1 – 75%; ∆2 – 25%; depends on jurisdiction: Joint & Several – each could be held liable for 100% (comparative fault jurisdiction); C/L – 50% from each; Several – 25% from ∆1 and 75% from ∆2 (no contribution issues)

3) π – 25%; ∆1 –50%; ∆2 – 25%; C/L – no recovery; Modern – recover 75%



The “Actual Cause” Principle



∆ is only liable for what s/he actually causes




“But for” test shows what ∆ caused




Burden of Proof: Preponderance of the evidence




Doctrine from here:

1) Duplicate causes

2) Relaxing the “actual cause” burden on πs



PROBLEMS Applying the Actual Cause Test




Landers: Two pipes broke from different points; both flowed into a 


lake and killed the fish. 2 ∆s – is the injury divisible? Theoretically 


divisible, but almost impossible for π to prove liability of each => 



no joint and several liability; BUT court holds that this is an 



indivisible injury and holds the ∆s joint and severally liable 



because π would likely get nothing based on the evidence in the 



case. No proof problem w/ the surrounding trees/grass because the 



salt water & salt water/oil flows came from different areas.




Anderson: Twin fires – the fires combine prior to burning πs 



property. Problem w/ actual cause test can’t say but for ∆’s fire, the 


house wouldn’t have burned because other fire would injure π. π 



would lose – can’t meet the test. Court applies different test: 



“substantial factor” test – was ∆1s negligence a substantial factor 


in causing πs injury? Was ∆2s negligence a substantial factor in 



causing πs injury?



HYPO: Police Injury Case – π injured in bar and when thrown in police 


car damages – divisible injuries. ∆1 is but for cause of all injuries; if ∆1 


hadn’t been negligent ∆2 would not have come. ∆2 is but for cause of only 

his injuries, had nothing to do with first injury.



Dillon: Victim slipped and grabbed a wire, was electrocuted and fell into 


river. Alleged negligent act – failing to insulate the wire. To apply the 


actual cause test, have to know negligent act. If he is not electrocuted (no 


negligence), would he have saved himself or fallen anyway? Caused 


damage – but not a full life; seconds-minutes, not much damage. Court 


assumed he was going to die anyway.



**ALWAYS ask, “What injury did ∆ cause?”**



Summers v. Tice: 2 ∆s negligent, but only one definitely caused the injury; 

π loses as to both since π can’t prove who was the actual cause. Court – 


decides to shift BOP – Alternative liability: ∆ now has to prove by a 


preponderance of the evidence that they were not guilty/negligent; if 


neither can prove it, both held negligent. 



Market Share Theory



∆ negligently manufactures drug; mothers take it while pregnant 



and causes cancer in daughter; πs find out 30 years later; can’t tell 



which manufacturer made the drug; can’t prove beyond a 




preponderance of the evidence which singly ∆ caused the injury. 



SOLUTION: each ∆ should be liable to each π for their percentage 



of the market share at the time. THEORY – if we had perfect 



information, this would result in the same exposure if we could 



identify who sold the drugs to whom




Example: 4 πs each suffer $100,000 damage and each bought the 



product from a separate ∆. 4 ∆s each w/ 25% of the market. If πs 



can each recover: How much does each ∆ pay? Under traditional 



rules they would pay one π $100,000; under Market Share they 



would pay each of the 4 ∆s $25,000 (totaling $100,000)



Lost Chance Theory



Lovett: π suffered a broken neck in a car accident and was treated 



by ∆ contending that ∆ negligently misdiagnosed her injury, 



among other issues. Her expert could not quantify the degree to 



which she was deprived of a better recovery by their negligence. 



Held: π may recover for a loss of opportunity injury in medical 



malpractice when the ∆’s alleged negligence aggravates the π’s 



preexisting injury such that it deprives the π of a substantially 



better outcome. Traditional Tort Approach: π must prove that as 



a result of ∆’s negligence, the π was deprived of at least a 51% 



chance of a more favorable outcome than she actually received. 



Called the “all or nothing” result because if π can prove it, recover 



full damages; but if π can’t prove it then no damages. Relaxed 



Standard of Proof of Causation: permits πs to submit their cases 



to the jury upon demonstrating that a ∆’s negligence more likely 



than not “increased the harm” to the π or “destroyed a substantial 



possibility” of achieving a more favorable outcome. π just has to 



prove that ∆’s negligence increased her harm to some degree. π, 



after meeting the burden, recovers full damages: worst of both 



worlds because it continues the arbitrariness of the all-or-nothing 



rule, but by relaxing the proof requirement, it increases the 




likelihood that a π will be able to convince a jury to award full 



damages. Third Approach: the lost opportunity for a better 



recovery is the injury the π is trying to recover for. π will not 



receive damages for the entire injury, just for the lost opportunity. 



Court adopts third approach – Lost Chance Theory



HYPO: Meningitis – 40% chance of survival; failure to diagnose 



by ∆ and π dies; damages if ∆ caused death = $100,000; Would 



lose by definition under the traditional test (40% < 51%); Apply 



lost chance – 40% x $100,000 = $40,000 recovery; can prove lost 



chance, but can’t prove death since there was 60% chance of death 



whether diagnosed or not



Posner – doesn’t make sense to give full damages to 51%+, should 



apply lost chance theory. 




BUT – lost chance theory alters traditional tort law, allowing 



recovery to πs who would lose due to actual cause problems

D. Proximate (Legal) Cause



Purpose of Proximate Cause Rules



HYPO: Mrs. O’Leary’s cow – kicked over lantern and burned down Chicago. Means of limiting liability that otherwise seems too large. Proximate Cause determinations involve case-specific inquiries into whether the ∆ should be held legally responsible to the π. Even when the ∆ was negligent and in fact caused harm to the π, the ∆ is not liable for reasons we call Proximate Cause.


Fact Situations to look for:

· Bizarre situations

· Unforeseeable or unlikely harm to the π occurs

· The ∆1-∆2 scenario (2 ∆s who case an injury where ∆1 is negligent, then ∆2 does something either negligent or intentional tort. ∆1 fails to provide security & ∆2 causes an injury in a crime



Ways to Break Proximate Cause Rules Down



A. Overall Approach: Risk Rule




B. Intervening Causes: Are they superseding?




C. Special Rules



Overall Approach: Risk Rule Approach



A. Theory





Formula: Culpability (fault) determines liability





Medcalf – π visits friend’s apartment. The “buzzer” system 




does not work and the friend has to walk down to open the 




door. While friend is walking down, π is attacked and 




mugged. Alleged negligent act: the faulty electronic buzzer. 



Issue: was it negligent to fail to have an operating system? 




TEST: Risk Rule - start w/ foreseeable risks from the acts: 




probabilities of harm & alternatives; cost/benefit; what 




would the RP do; elements to determine breach. Held: it is 




foreseeable to not have a working buzzer, but not 





foreseeable that a mugging would occur





Test for Proximate Cause: Whether the harm, which 




occurred, was of the same general nature as the foreseeable 




risk created by the ∆’s negligence.





Palsgraf: Guy tries to get on moving train and is assisted 




by two employees/conductors. He drops his non-descript 




package while being pushed on. The package has fireworks 



in it and they go off, causing a scale to fall and injure 




Palsgraf. Alleged negligent act – pushing person onto the 




train; risks of harm from that act – guy could fall; package 




could fall. π receives bodily harm, but can’t recover. 




“Nothing in this situation gave notice that the falling 




package had in it the potency of peril to persons thus 




removed.” “Risk imports relation; it is risk to another or to 




others w/in the range of apprehension” and π was not in the 



immediate vicinity; not in the zone of danger. **Limits 




risk rule and adds prong of “who’s at risk?” 





Risk Rule: 1. Class of Persons 2. Class of Risk 




B. Alternate Theory: Andrews Dissent in Palsgraf





- There is a duty to the public at large; negligence towards 




one = negligence towards all. 





- Problem: repeats Actual Cause & implies transferred 




intent, which is not used w/ negligence



Intervening Causes



The ∆1-∆2 Scenario: ∆1 is negligent, and then sometime later ∆2 



does something.



Courts: Apply the risk-type approach to this scenario




Pg. 236: “An intervening cause that lies within the scope of the 



foreseeable risk, or has a reasonable connection to it, is not a 



superseding cause”




Watson: Traditional View - ∆1, railroad; negligence: leak in 



derailed tank car; risk – catch fire. ∆2 throws match (not clear if 



intentional (∆1 not liable) or negligent (∆1 also liable)). C/L – 



intentional acts are unforeseeable and determinative.



Hines: Modern View – where negligent act is exposing the injured 



party to the act causing the injury. ∆1 railroad; negligence: not 



stopping at right stop; foreseeable risk – attack on a passenger that 



has to walk back to the right stop.  ∆2 attacker, intentional act. 




HYPO: Fire Escapes - ∆1 negligently designed fire escapes. ∆2 is 



an arsonist and lights a fire. π can’t escape and gets hurt. ∆2’s 



intervening act did NOT cut off liability and ∆1 is still liable.




Doe v. Linder - ∆1 is negligent in safeguarding key to πs residence. 


∆2 is a criminal and takes the keys and breaks in. ∆1 is not found 



liable because of superseding intervening cause by criminals



How to determine if ∆2’s action will cut off liability? Look at 



original pool of risks for ∆1 and see if the negligent act by ∆2 is in 



there.




Suicide: Traditional: not liable/cut-off liability; Modern – depends 




Negligent Intervening Causes




Derdiarian: ∆1 & ∆2 were both “but-for” causes. ∆1 failed 




to comply with safety standards; block/barricade; 





placement of kettle; foreseeable risk: car crash in job site 




and ∆2 failed to take his seizure medicine. Court – related 




enough to what was foreseen. “If the intervening act is 




extraordinary under the circumstances, not foreseeable in 




the normal course of events, or independent or far removed 




from π’s conduct, it may well be a superseding act which 




breaks the causal nexus.”


Defining the Risk: Flexibility and the “Mechanism Rule”



Pg. 243: “The precise manner in which the injury came 




about…does not necessarily matter.”




Risk Rule: Manner of Occurrence



Hughes: Manhole left open w/ lanterns around it. Some kids 



climbed in and the lantern was knocked over and ignited fumes 



and an explosion resulted. Alleged negligent at – left manhole 



open w/ lantern around it. Held: Kids are foreseeable in this 



situation. Risks – could hurt themselves playing, fall in the hold, 



play with lantern and get burned. There is no negligent act w/o 



specific risks (Carroll Towing) Specific risk is needed to determine



the scope of the risk/proximate cause. The way the explosion 



occurred (Manner of Occurrence) Liquid => gas => explosion = 



NOT foreseeable. Risk was foreseen, but the manner in which it 



occurred was not. RULE taken: the manner of harm doesn’t have 



to be foreseeable if the ultimate harm was foreseeable.




Doughty: Knocked over cement cover and the 800-degree liquid 



exploded up and burned the π horrifically. Negligent act – 




knocking over the cement cover. Risks – splashes of 800-degree 



liquid will burn someone. Unforeseeable chemical reaction occurs, 



which causes the foreseeable risk. BUT – court does not view it as 



a variant on the foreseeable. The chemical reaction was a new and 



unexpected factor. Bizarre Test – at some point the mechanism by 


which the event occurs becomes so bizarre it’s too unforeseeable. 



Mechanism Test/Rule – Splash foreseen from momentum, not 



chemical reaction; time difference; additional steps took place with 


the chemical reaction.



Special (“Per se”) Rules



A. The Rescue Doctrine





Wagner – Passenger falls from a train while it is going over 



a bridge. The train stops and people begin search. π is 




injured looking for the first guy. Negligent act – R/R 




leaving doors open and letting people stand there. Issue – 




foreseeable that rescuer will get hurt? Held: doesn’t matter 




- ∆ accountable anyway; rescuers are foreseeable πs. 





Limits of the Rescue Doctrine:






1. Doesn’t have to be an instinctive rescue






2. Has to have unbroken continuity






3. Rescuer’s contributory negligence: usually an 





emergency so they get more leeway to determine 





what is reasonable; C/L – contributory negligence 





didn’t affect rescuers.



B. The Thin Skull Rule (Eggshell π)





Hammerstein: take your victim as you find them. It doesn’t 




matter if the injury is more severe than expected, it is 




deemed foreseeable.





HYPO: Weightlifter – minor traffic accident; the 





weightlifter realized he wasn’t perfect and unhurtable; 




totally fell apart mentally; π is liable.





McCahill: The ∆ ran into the π, who suffered a broken 




thigh. In the hospital, he began to suffer delirium tremens, 




from which he died. This resulted only because of a pre-




existing alcoholic condition. The ∆ took the π as it found 




him and was held liable for his death.





Rule Applies to:






1. Physical aftermath






2. Emotional Aftermath




C. Accident Aftermath





Marshall: Truck coming up a hill and in the wrong lane. 




Car coming over the top is forced off the road. Truck stops 




in the road to help the car. π walks back to warn other cars 




the truck is in the road and is hit by a car. ∆1 the truck; ∆2 




car that hits π; π is passenger in 1st car. Apply the Risk 




Rule: How were the risks defined? To ∆1’s negligent act – 




driving on the wrong side of the road, foreseeable risks: car 



forced off road; total acts foreseeable? No. “Disturbed 




Waters” – Event disturbs the waters and ∆ is liable until 




the waters calm again.





When situations become “normal” – when a 2nd person 




takes control and there is a significant passage of time.




D. Subsequent Medical Negligence





∆1 is negligent; ∆2 medical negligence in treating π after 




the injury. ∆1 is liable for the original injury & the 





subsequent medical negligence. ∆2 is liable only for the 




medical negligence, not the original injury.



Assessing the Scope of The Risk



A) Is the harm outside the Scope of the Risk because of the manner 


in which it occurs?




B) Is the harm outside the Scope of the Risk because its extent is 



unforeseeable?




C) Is the harm outside the Scope of the Risk because it results most 


directly from an act of an intervening person or force?





- Temporal: ∆1 is negligent, and then sometime later ∆2 




does something. Was ∆2 intervening? Was ∆2 





superceding? If superceding, ∆1’s liability is cut off.
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